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QUESTION 1

What are the two features licenses (subscriptions) available for MX security appliances? (Choose two.)
A. Comprehensive

B. Advanced security

C. Enterprise

D. Essential

E. Defended

Correct Answer: BC

QUESTION 2

What are two main reasons for deploying small-medium Wi-Fi solutions? (Choose two.)
A. Obtain enterprise-class solution features at the SMB price

B. Simplify deployment for organizations with limited IT staff

C. Need to identify potentially malicious rogue devices or users

D. Provide single pane of glass for routing and switching

E. Separate guest traffic from production traffic at reasonable OpEXx.

Correct Answer: AE

QUESTION 3

Which statement describe how Cisco Meraki devices behave should they be unable to contact the Meraki Cloud
server?

A. The devices may be re-initiated into a backup mode if an administrator manually intervenes using a direct, local
connection.

B. The network devices continue to function normally (traffic flows at full line rate) but management and configuration
functions are interrupted.

C. The network stops passing traffic across devices and their interfaces including any connected non-Cisco Meraki
devices.

D. The network devices will attempt to establish a connection to a locally hosted database server that has been
configured for high availability.

Correct Answer: B
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QUESTION 4

What is the key architectural component that allows Cisco Meraki\\'s data centers to be fully HIPAA and PCI compliant?
A. Layer 7 application fingerprinting

B. Controller and server-free design

C. Out-of-band control plane

D. Non-existent command line interface

Correct Answer: C

QUESTION 5

What are two ways that MX security appliances achieve automatic failover and high availability? (Choose two.)
A. Always on (availability groups)

B. Survivable Remote Site Technology (SRST)

C. Warm spare (using VRRP)

D. Redundant gateways (using HSRP)

E. Dual redundant uplink support (multiple ISPs)

Correct Answer: CE
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